Orden de Operaciones (C)

Realice las operaciones en el orden correcto.

- (24,92 — 18,32) x (—66,6+54,9) — 61,76

[

0. (59,25 — (—48,37) — 50,22) x (11,94 +21,06)

W

26,07 —82,11+ 16,58 — 38,09 — 79,71

4. —23,28 — (82,25 x (41,6 +75,92) + (—14,88))

9

- (54,8+424,52— 60,35+ 18,43) x 5,45
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Orden de Operaciones (C) Answers

Realice las operaciones en el orden correcto.

(24,92 —18,32) x (—66,6+54,9) — 61,76
— —.138,98

[

2. (59,25 — (—48,37) —50,22) x (11,94 +21,06)
— 2.016,3

W

. 26,07 — 82,11+ 16,58 — 38,09 — 79,71
— 157,26

4. —23,28 — (82,25 x (41,6 +75,92) + (—14,88))
= —9.674,42

91

. (54,8424,52—60,35+18,43) x 5,45
=.203,83
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